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Consider the following for the next ten (10) 8.
items that follow :

Mark option (a) if the question can he
answered by using one of the statements

alone, but cannot be answered using the other
statement alone

Mark option (b) if the question can be
answered by using either statement alone.

 Mark option (c) if the question can be
answered by usmg both the statements

together, but cannot be answered using either
statement alone.,

¥ Eskn L b
- Mark optwn (d) if the question cannot be

angwered even by using both the statements &
fher - F - i

mge LR RS 2 ‘
*}’iﬁ. ﬁ;.v_% =

Mf_ﬁamm?!
m=(1-p)(p?+p+1)and
p+1)(p2-p+1)

n=(p

\ ‘* r x +y2+z —lﬂu
S;{;eqwnt- -
l‘\»”-f 7- . ¢

=~ + é‘) "“ .h 1

Question : What fs the 3-digit number which is
divisible by 10 7

Statement-I ;

If the digite in hundred's place and ten's place
of the number are interchanged, the resulting
number is diminighed by 180,

Statement-I1 !

If the digit in hundred’s place is halved and
digit in ten’s place and unit place of the
number are interchanged, the resulting
number is diminished by 336.

Question : Are x, y, z equal, where X, y, z are
real numbers? g e
| Statement:i,__
Ve
-W—ﬁi}a e

Question : W

'as)e/)b #07

Statement-L: (" g NG 0 N A0 Y
\ _})1 - 5 \0O. ! J)
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7. Question : Is average of the largest and the® A sphere of radius 5 cm is dropped in a right
smallest of 4 given numbers greater than the circular cylindrical vessel partly filled with
average of the 4 numbers ? water. The radius of the cylindrical vessel is
Statement-1 : 10 em. If the sphere is completely submerged

-_— 1
The difference between the 1argest and the in water, by l.IOW .]'.nuCh will the level of water
second largest numbers is less than the rleginiib k_cy_lmfin‘cal ossel®
difference between the second smallest and (a) 9 o 15F NG
the smallest of the numbers. 3 s
Stat -1 :
a em:ent IT ®) 5 .
The difference between the largest and the 2 =
smallest numbers is greater than the (¢) 1lem
difference between the second largest and the 5
second smallest of the numbers, . (d) 6 o
4 t- : . - " ._’ - o 'l_' -

B.  Question:Is(a=b+0)>(a+b o), wherea, by onsider the following statements:
andcarerealnumbers? ' F e
Statement-I: -~ . | \-1,/The S i 0 CERI, G tha 15

e Ly - clrdemlessthananghta:ngle.
b is negative
Statement-IIE . 5 / If two sides of a pair of opposme,:;des ::
‘ teral n i
s eeative \ : | a cyclic quadnla %re equal,l T?e DuLe
diagonals are also equal. \

P
x 'th tate ents aboe‘-i’él re
) L Ll* n - A

- Theiaie @D 2 only
is ¥ 200. @

J ‘? ”}jﬁ‘xmn‘t;

s = 1 Iy o K
s such that
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14, In a triangle ABC, angle B = 90° and p is the

length of the perpendicular from B (5 AC. 1f
BC = 10 em and AC = 12 cm,
value of p ?

511
3

(b) ____mgﬁ

then what is the

()

| 40
()

J61 ,
@ 12

25

15. _The mean of p, q, r, s and t.i 280. If the mean
of p, r and t is 240, what is the mean of q and

s?

(@) 810

(b) 320

(¢) 330 E
d) 340

Consider the following for the next (05) items
that follow L bl a

. -

17. What is the average age (in years) of B, C, D,
I and G ?

(a) 12
(b) 13
() 14
(d) 16

18. What is the difference between the weights

(in kg) of G and C ?
(a) 4
(b) .3
() 2
d 1

Rall Jehs TI

What i"s“th_e average weight (in kg) of A, B, C,

D, E, F and G ?
201

(@ - 7 o

(o 0 AE

19.

e

is maximum for D

N
|
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91.  Which of the following is/are
identity/identities ?

~’1.,-—2?&113 0+ cos® @

: e n
B TD +5In0cos0=10<0<—

’2%—5in%=c0829(cos49+35in29)
——

Select the correct answer using the code given

below :

(@) lonly

(b)  2only
| &) —Toth 1 and 2 @ k
| (d) Neither 1 nor 2

922, If7sin®0+9 cos?0 + 42 sin0=16,0<6 <§ 1
i I

then what is tan 8 equal to ?

24,

25.

a® _ b* :
b-me-a' » (c-b@a-b
2

B
" (a-c(b-c0

If p'=

2
. then what is (p + q + 1)

equal to ?
(a) 9 l
(b) 4

Which one of the following is a factor of ,
a2-b2—c2+2bc+a+b-c? ._..-, n

(@) a+b+tc+l " f:‘l -
(b) a-b-c+1 e -

'[ "IRRE

© a+b+c-1




28.

If x'= 66 ; x > 1, then what is
7—
7 6
o 6
7—
T-x

the value of x2—38x + 2 equal to ?
t(a)—o0

(b)) 1

() 18

d 20

A train completely overtakes two persons,

walking in the same direction with speeds |

3 km/hr and 4 km/hr in 9 seconds and

282 seconds respectively. What is the length of

the train ?

(a) 60m s | {_ a

(b) 62:5m 6} \

() Soa 5 -a\y

:
(b) 40%

l.

A pendulum swings through an angle of

9° and its end describes an arc of leng!:h
14-3 cm., What is the length of the pendulum ?

(Take = -273)

(a) 88cm
(b) 9lcm
(c) 95cm
(d) 98cm

The‘ar(,;h ot: a bridge is in the form of an arc of
a circle. If the span of the bridge is 40 m and
height in the middle is 8 m, then what is the
radius of curvature of the bridge ?

(a) 25m
(b) 27m

(¢) 29m ] s '




35. Three solid lead spheres of diameters 6 cm,|38. What is the LCM of x* + x%y? + A, x3 + y2,
— e —

8 cm and 10 cm are melted together and recast x3—y3?

as a solid sphere. What is the percentage

diminution of the surface area as compared to (8) (x2-y2) (xh +x%y% + yh)?

the sum of the surface areas of the three

h spheres ? - - (b) (xz = y2) (x4 + 2x2y2 + Y”)

@ 25% .b&*&") CEEVICET (© &8-y5)

(b) 26% 1‘“‘:‘5“4:\1‘13’7— @ (x8+yd)

() 27%

d 28%

39. Whatis 3
0y _ 2 _v2_42_9yz .

36. A solid sphere of radius 3 cm is melted to form xz y2 zz ‘ 2 zz yz 2 _.Z

a hollow cylinder of height 4 cm and external | PR .+2xy. Ia &

diameter 10 cm. What is the thickness of the equal to ?

cylinder ? x

- (a) o .
(a) 0 CIm b
L 4 i

(b) ro" D CIM - - - v (hH) y+z

(b) Ot -y O , it

FOI50cime A = AN E gl By < W :

RE LSRR 2 :

@ 1o e

37. Three glasses P, Q

5N

,,,,,,,,,,,,

(%] CamScanner



41. What is the radius of the sphere passing

through the corners of the cuboid with edges
8 cm, 12 cm and 24 em ?

(a) 10-5cem
(b) 14cm
(¢0 2lcm
(d) 28cm

A lamp shade is in the shape of a part of a
cone and its top and bottom ends are circles
whose circumferences are respectively 30 cm
and 40ecm. The perpendicular distance
between the ends is 6 cm. If the cone were to
be completed, then how far would its vertex be

(a) 20cm @
= .0 ="
18 cm
(5

(b)

The corners of an equilateral triangular plate
were cut in such a manner that it forms a
regular hexagonal plate. What is the ratio of
the area of the triangular plate to the area of
the hexagonal plate ?

(a) 2:1
(b) 3:2
(c) 4:3
(d 5:3

Two equal arcs of different circles C1 and Cz

subtend angles of 60° and 75° respectively, at
the centres. What is the ratio of the radius of
C; to the radius of Cg ?

(a) 4:5

(b) 5:4 : 55 55« A
(@) algil |

) 3:2 VaE
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4 T?]e erence of a circle exceeds the Consider the following for the next two (02)
diameter by 16-8 cm. What is the diameter of itentsthatifolls
the circle ? (Take n = 22) meltaelviioy;
7
(@) 624 cm A line segment AB is bisected at C and semi-circles
S1, Sy and Sy are drawn respectively on AB, AC and
(b) 642 cm '
CB as diameters such that they all lie on same side
(€ 764 cm of AB. A circle S is drawn touching internally S; and
(d) 7-84cm externally Sp and Sg.
.
49. The hypotenuse AC of a right-angled ABC is 5, Ifr is the radius of S and R is the radius of Sy,
3J5 cm. If AB is doubled and BC is tnpled . i A e
such that ABC remains a right-angled then which one of the following is correct ?
triangle, therl}Ypotenusg becomes 15 cm. What 2 ' i I
iAB+BCoqualte? | @ Re¥ g
o - a B L-
w sewl® *‘

1 one of the

(%81 CamScanner




consider the following for the next ¢
rems that follow : e (02)

(x—a)(x-b) (x +
A = _x+a)(x+bh)
Le (x — ma) (x — mb) (x+ma)(x+mT)';
m, a, b >0,
53. Whatis x? +
: x2 + m2ab equal to ?
1
(a) —F
1
) =
m?
ge Sult
! ‘i ’h"rrii_
(0 'r% . T
: L - _
. S kL

Consider the following for the next two (02)
items that follow :

The total monthly electricity bill for a house consists
of the sum of two parts, one part is proportional to
number of rooms and the other part is proportional
to number of units consumed. ¥ 400 is the monthly
electricity bill for a house with 8 rooms and
consuming 240 units and ¥ 320 is the monthly
electricity bill for a house with 6 rooms and

consuming 200 units.

What is the monthly electricity bill for a house

with m rooms and consuming n units ?

55.

(2 ¥@Om+n)

() T@0m+n)

] for a house
I0r a Nouse




Consider the following for the next two (02) | Consider the following for the next two (02)

items that follow : items that follow :
A grouped frequency distribution is given below : |4 quadratic equation is given by
Weekly wagesin | Numbers of (a+b+c)x2—(2a+2b)x+(a+b—c)=0;
Rupees (¥) workers where a, b and c are real and distinct.
2050 - 2550 5
2550 — .
8050 10 59. What are the roots of the equation ?
3050 - 3550 : k ' (a+b—c)
@ b Garbro
3550 — 4050 3 bt
-b
4050 - 4550 2 ® ey
4550 - 5050 0 (—a-b+c)
© -1’(a+b+d
@ (a+b-c)

(a+b+c) 1
14 f 4 |1

'*L‘XAM'S o

Consider the following statements :

e median (apj

(%81 CamScanner



Consider the following for the next two (02) Consider the following for the next two (02)
items that follow : items that follow :

AB is a straight road leading to the foot P of a tower
A flagstaff stands on the top of a vertical tower. The | of height h. Q is at distance x from Pand Ris at a
angle of elevation of the top of the flagstaff from a |distance y from Q (R is farther from P than Q; R,
Q are on the same side). The angle of elevation of

th f to t Q is twice of that at R.
pase of the tower is found to be o. Advancing a R QZI:an Gce

. A (Use the formula tan 20 = )
distance d towards the tower in the same horizontal 1—tan? 6

} plane, the angle of elevation of the top of the
flagstaff is observed to be p and that of the top of the | 63- Which one of the following is correct ?

certain place on the same horizontal level with the

tower is observed to be y. Let H be the height of the (a) x=y

top of the flagstaff from the base of the tower and h (b) x<y

be the height of the tower. (€ x>¥
(d) Cannot be concluded due to insufficient

data

61. Which one of llowing is correct ?

64. Which one of the following is correct ?

(a) Htany B=O : (a) h2=x2—y2

S : : P MS

®) htany-Htanp=0 ® =k RS
e © B=202-x) |

L O T
@ h2=y2-x




o T Chommmhm“m@euandchm Consider the following for the next two (02) |
CDS“hte“dsanang‘eBatthecenmo T items that follow : |
tis th ) .
what 1s the value of tan[%] -tan[_;‘.] 2 A right conical cap just covers two spheres placed |
3 one above the other on a table such that it touches |
@) 4 both the spheres. Let r be the radius of the smaller ‘
5 sphere and R be the radius of the bigger sphere.
® Let 26 be the vertical angle of the cone.
© =
e - 69. What is the height of the cone ?
7 - 2
d ﬁ e 5 i (a) Rz'l;r
1 poee = t I 2 -
- ‘ |l “ 2
o :=| lll'!l Fw “ , 2R%
ing for next two (oz)%l (b) Te—r

What is the radius of the base of the cone ?

L1e
rilav vl
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72.

Consider the following statements :

1.

If (a+b) is directly proportional to
(a—b), then (a24p2) i directly
proportional to ab,

If a is directly Proportional to b, then
(a®-b?)is directly proportional to ab.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2 only

(¢ Both1and2
(d) Neither 1 nor 2

If 32 + 6b + ¢ + 2d) x (8a — 6b — ¢ + 2d) =
(3a —6b + ¢ —2d) x (8a + 6b — ¢ — 2d), then
which one of the following is correct ?

(a)
(b)
()
(d)

If 3sin0+5

ab=cd
ac=bd
ad = be ]
ad + be = '

s W - i

75.

76.

What is
3 (sin X — COS x)4 + 6 (sin x + cos x)% +
4 (sin x)® + 4 (cos x)%
equal to ?
(a) 9
(bhy 11
(¢ 13
(d 15

o

What is th_e-_vélue of sin 6 + cos 6, if 0 satisfies
the equation cot? 0 — (-J§ + 1) cot O + -J§ =0;
0<8<=?

(a)

b

i
JE 1




Sinf+cosh g P
)

» — <8< —, then 81. How many real roots does the equati
sin6—cosh’ 4 2 [x+9 =x—3have?

whatis V2 sin x equal to ?

78. If tanx=

(a) Onleone
(a) sin® +cosh (b) Only two
(b) sin®—cos @ (c)  Onlythree
(d) None
© sinB+cos 6
z 82. If x = 97 + 56+/3, then what is the value of
sinf—cos iz +L ?
GO —— i i e
4 51-34-
@ 7 56 R3 [
(b) 6
5
79. Howmanyvaluesofewﬂlsaﬁsfytheequaﬁon ::)) b

(sin? 0 — 4 sin 6 + 3) (4 — «y*ﬁume) 0,

where0<‘9<—?‘ ‘ 83, IetLbetheIBM"a‘ndﬁbeﬂ;éHCFIbftwo
L= g;vennmnbers LandHarermﬂ:eraﬁnS 2.
(a) None @ . Ifthesumofthetwomumba'slsﬁ then what
mtheprodu:t.ofthe,nnmbexi.
Onlyone |

Onle two

Dy th oo
T\O/li‘%yﬁu:.u

(%81 CamScanner



850 If 3x = 1 3 -X = . =31l i ;
8 6, then what is 2*~ ' + 2° ~X|gg,  What is number of digits in the expansion of

equal to ? 125190 (Given log, 2 = 0-301)
Sar 4 (a) 69
® 3 . () 70
() 2 e 208
@ 210
d 1

89. What is the HCF of i

86. If x( ~b+ abb) (Hb"%] il e P g e e G
N = ," — '.t;'- .” ‘
X! :-I-'Y = 2a®, then what is x — i’requal to? adxtfan bt ar i

2 n 3 )
b (zaL)J-ﬂm%svr ' - i if HCE (cid)=slcl i dir e i
W o .

(b) ,cx;ar-cji' -t.", e

ax+’d-!* kv o ¥

ax+b

gt ot

Iﬁ&@ﬁwﬁj”@g- p(n(nn\




91. Ka?_be=o b2—agcop o
¢=0,b"-ac=p,c-ab= Y, then [95. A person borrowed ¥ 10,000 at 12% rate of
what is Austblhoy 9 interest ded quarterly for
(a+b+c)(a+B+y) equal to ? interest per annum compounded quarterly
a period of 9 months. What is the interest paid
(a) a+b-¢ @& J (abe) by him to settle his account after 9 months ?
(b) a-b+ec ®
a T 92727
() —-a+b+e Qﬁtﬁ’:l) fatba (‘,3,
@ 1 (b) ¥ 947:47 ' |
. () T 967-67 |
92. If (x— 1) is a factor of x* + ox® + px2 + yx - 1,
then the other factor will be : (d) T 987-87
(a) x+1 :
(b) x-3
0 x+2 96. For what relation between a and b is the
d x equz_a.tion sin 9=% possible ?
93. A 2-digit number is such that the sum of the (@ a=b ——
number and the number obtained by reversing e
the order of the digits of the number is 55. (b) a<b
Further, t ‘!;[’-f_?fa erence of the given number v ;
and the number obtained by reversing the ¢ a2b y ey
order of the digits of the number is 45. What is , 7SN
(@) a>bl R
the product of the digits ? l ™
@ 5 ouy (s’ | & i
: : N B | ' ] > I'
B 2 GRS SR - R

(a) 15

(%81 CamScanner
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98, 1f 28 _4b _3c e

3 5 =1 then what is the value of | 100+ 1f the median of observations

12, 1, 8, 64, 61, 28, 45, 35, 21, 17
13 ’a2 +02 -b2 9 . ]LJ

is M, then what is the value of 2M + 5 ?

(@ 38J5
(a) 12 o
(b) 355 (b) 28
(¢) <375 () 52
(d) 3415 d) 54

99. The sum of deviations of n numbers from
10 and 20 are a, b respectively. If B = -4,
a

‘then what is the mean of these n numbers ?

@ 12 84




ACC AFCAT AIRMEN CAPF
(1) (1) (2) (1) (2)

wesT 22 TERVIEW [ = wm 3
ONLINE COURSE $ X -
3 = & y / xi -

243 PEOPLE @NLINE NOW 448 PEOPLE @NLINE NOW

CDS EXAM

EXAMS

Courses

INET OFFICER MNS
(1) (1)

BEST SELLER

256 PEOPLE @NLINE NOW

MOCK TEST

NDA EXAM PC(SL)
(3) (1) (1)

BEST SELLER

s T e

187 PEOPLE @NLINE NOW

sco SSB INTERVIEW
(1) (2)

HIGHEST RATED

\

-y
»

143 PEOPLE @NLINE NOW

TERRITORIAL ARMY

(1)

101 PEOPLE @NLINE NOW

SSB Interview Online CDS Exam Online
Course 2022 Course 2023
5(139) 5{87)

¥6,999.00 ¥5,999.00

451 PEOPLE @NLINE NOW 98 PEOPLE @NLINE NOW

ACC Exam Online Course
Army Cadet College
2023

MNS Military Nursing
Service Exam Online
Course 2023

5(61) 5{52)

6,999.00 ¥5,999.00

CDS OTA Exam Online
Course 2023
5(84)

¥5,499.00

OIR TEST,
&PPDT}

B3 PEOPLE @NLINE NOW

OIR Test and PPDT

Online Course - Officers

Intelligence Rating Test
5{61)

¥3,999.00

AFCAT Exam Online
Course 2023
5(71)

¥5,999.00

SSBCrack

AFCAT EXAM &

MOCK TEST
SERIES

35 PEOPLE @NLINE NOW

AFCAT Exam Online
Mock Test Series 2022

e

5(72)

¥499.00

NDA Exam Online
Course 2023
5(85)

¥5,999.00

CDS EXAM
MOCK TEST
SERIES

24 PEOPLE @NLINE NOW

CDS Exam Online Mock
Test Series 2022
5{86)

¥499.00

Territorial Army Exam
Online Course 2023
5(80

¥5.999.00

BEST SELLER

NDA EXAM

MOCK TEST
SERIES

16 PEOPLE @NLINE NOW

NDA Exam Online Mock
Test Series 2022
5(86

¥499.00

GET IT ON

}" Google Play



https://play.google.com/store/apps/details?id=com.ssbcrackexams.learn

